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u'?dGq Ps]8]dL 
lzIfs ;]jf cfof]u dfWolds tx sf] v'Nnf k|ltof]lutfTds gd'gf kl/Iff 

SET 8 

ldlt M @)&(.)*.!% 

KEY 'B' k"0ff+s M !)) 
ljifo M k|yd kq ;fdfGo kl/Iff  

j:t'ut ax'pQ/                      50×2=100 
 

!= cGtl/Ifdf k7fOPsf] klxnf] ofg s'g xf] < 

(A) n'gf  ! 

(B) d]l/g/ @ 

(C) ef]:tf]s ! 

(D) :k'tlgs ! 

@= ;'o{sf] ljls/0f gfKg] oGqnfO{ s] elgG5 < 

(A) PS6Ldf]ld6/ 

(B) kmf]6f]ld6/ 

(C) xfO8«f]ld6/ 

(D) kf/x]lnof]ld6/ 

#= u|LgjLrnfO{ cfwf/ dflg cGt/fli6«o k|dfl0fs ;do slxn] lgwf{/0f ul/of] < 

(A) !**@ gf]e]Da/ ! 

(B) !**$ gf]e]Da/ ! 

(C) !**% gf]e]Da/ ! 

(D) dflysf s'g} klg xf]Og 

$= ljZjsf] ;a}eGbf nfdf] kj{t dfnf s'g dxfb]zdf kb{5 < 

(A) blIf0f cd]l/sf 

(B) pQ/ cd]l/sf 

(C) ci6«]lnof 

(D) o'/f]k 

%= k|l;4 ko{6sLo :yn d'lQmgfy d':tfª lhNnfdf kb{5 h;sf] xfn} dfq ef/tLo k|=d= g/]Gb| df]bLn] 

e|d0f u/]sf lyP, ca eGg'xf]; of] ;d'Gb| ;txb]vL slt ld6/sf] prfOdf cjl:yt 5 < 

(A) #&$( dL= 

(B) #*^& dL= 

(C) #&() dL=  

(D) #()! dL= 

^= g]kfnsf] k|dfl0fs ;do lu|gaLr ;do eGbf slt l56f] 5 < 

(A) % 306f $% ldg]6 

(B) $ 306f $% ldg]6 

(C) ^ 306f $% ldg]6 

(D) % 306f #) ldg]6 
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&= sfl~h/f]jf / l;:g] lxdfnsf] 5fof s'g tfndf b]lvG5 < 

(A) kmf]S;'G8f] tfn 

(B) /f/f tfn 

(C) km]jf tfn 

(D) ltlnrf] tfn 

*= g]kfnsf] Oltxf;df cfbz{ zf;s eg]/ s;nfO{ lrlgG5 < 

(A) g/]Gb|b]j 

(B) dfgb]j 

(C) c+z'jdf{ 

(D) k|r08b]j 

(= g]kfnsf] Oltxf;df P]ltxfl;s hgdt;+u|x slxn] ePsf] lyof] < 

(A) lj=;+= @)#^ a}zfv @) 

(B) lj=;+= @)#^ h]7 !) 

(C) lj=;+= @)#& a}zfv !) 

(D) lj=;+= @)#& a}zfv @) 

!)= ;+:s[ltljb ;Todf]xg hf]zLnfO{ tnsf dWo] s'g ljZjljBfnon] dfgfy{ ljBfjfl/lw pkfwL k|bfg 

u/]sf] lyof] < 

(A) lqe'jg ljZjljBfno 

(B) kf]v/f ljZjljBfno 

(C) sf7df08f}+ ljZjljBfno 

(D) dWoklZrd ljZjljBfno 

!!= g]kfndf ;j{k|yd slxn] /fli6«o cf}Bf]lus gLlt NofOPsf] lyof] < 

(A) lj=;+= @)!@ 

(B) lj=;+= @)!$ 

(C) lj=;+= @)!^ 

(D) lj=;+= @)!* 

!@= Ps ufFp Ps pTkfbg cGtu{t g]kfndf lslj kmnsf] pTkfbgsf nflu s'g lhNnf 5gf}6 ul/Psf] 5 < 

(A) Onfd 

(B) emfkf 

(C) lrtjg 

(D) s~rgk'/ 

!#= O{G6/g]6 ;'rgf k|ljlw tyf jN8{ jfO{8 j]jsf cfljisf/s sf] x'g\ < 

(A) eL=P=lzef 

(B) 8]le8 lkmnf] 

(C) h]/L ofË 

(D) l6d jg{;{ nL 

!$= k[YjLsf] jfo'd08ndf kfOg] UofF;x?sf] dfqfsf] cfwf/df a9Laf6 sdsf] qmd ldnfpg'xf];\ < 

(A) cfu{g, sfa{g8fOcS;fO8, lxlnod, lqmK6g 

(B) cfu{g, lxlnod, sfa{g8fOcS;fO8, lqmK6g 

(C) sfa{g8fOcS;fO8, cfu{g, lxlnod, lqmK6g 

(D) cfu{g, sfa{g8fOcS;fO8, lqmK6g, lxlnod 

 



 

u'?dGq Ps]8]dL -nf]s ;]jf÷lzIfs ;]jf tof/L_, gofF afg]Zj/, sf7df8f}+, kmf]g g+= 9749344744, 9861534895 

!%= ;fs{ s[lif ;"rgf s]Gb| a+unfb]zdf 5 eg] ;fs{ ;f+:s[lts s]Gb| s'g b]zdf /x]sf] 5 < 

(A) kfls:tfg 

(B) >Ln+sf 

(C) dflNbE; 

(D) e'6fg 

!^= cf]hf]g tx ;+/If0f lbj; ;]K6]Da/ df dgfOG5 eg] ljZj ko{6g lbj; slxn] dgfOG5 < 

(A) ;]K6]Da/ @& 

(B) cS6f]a/ @& 

(C) gf]e]Da/ @& 

(D) cu:6 @& 

!&= klxnf] ;+:s/0fsf] blIf0f Pl;ofnL v]ns'b k|ltof]lutf slxn] ;DkGg ePsf] lyof] < 

(A) ;g\ !(*$ ;]K6]Da/ !& @# 

(B) ;g\ !(*% ;]K6]Da/ !& @# 

(C) ;g\ !(*^ ;]K6]Da/ !& @# 

(D) ;g\ !(*& ;]K6]Da/ !& @# 

!*= ul/a kl/rokq ljt/0f sfo{sf] ;'?jft s'g lhNnfaf6 eof] < 

(A) slknj:t' 

(B) lrtjg 

(C) /f}tx6 

(D) af/f 

!(= /fli6«o af3 u0fgf — @)!* cg';f/ g]kfndf jo:s af3sf] ;+Vof slt k'u]sf] 5 < 

(A) @#% j6f 

(B) ##% j6f 

(C) @^) j6f 

(D) #)) j6f 

@)= sfdLl/tf z]kf{n] @$ cf}+ k6s -;a}eGbf a9L_ ljZjsf] ;jf]{Rr lzv/ ;u/dfyf sf] ;kmn cf/f]x0f 

slxn] u/] < 

(A) @)&^ h]7 & 

(B) @)&^ c;f/ & 

(C) @)&^ ;fpg & 

(D) @)&^ h]7 !! 

@!= cgf}krfl/s lzIff ;Fu c;DalGwt jfSo s'g xf] < 

(A) cf}krfl/s lzIff h:tf] jGwg -;do, :yfg_ gx'g] 

(B) ;fIf/tfnfO{ a9L hf]8 lbg] / k|df0f kqnfO{ dxTj glbg] 

(C) ljBfno / sn]hsf] rf/ lbjfn leq lbOg] lzIff 

(D) ;xefuL ?lr  cfjZostf / rfxgf cg';f/ lzIf0f l;sfO x'g] 

@@= pQ/ jfNoj:yfsf jfnjflnsfx?n] s] s:tf ljsf;fTds sfo{ ub{5g\ < 

(A) cfkm\gf] pd]/ ;d"xsf jfnjflnsfx?;Fu ldnLh'nL v]Ng] tyf /dfpg] ub{5g\ . 

(B) ;fdflhs ;+3;+:yf tyf ultljwLx?k|lt ;sf/fTds ;f]rsf] ljsf; x'G5 . 

(C) dlxnf / k'?if jLrsf] e"ldsf a"lem ;f] cg';f/ Jojxf/ ub{5g\ . 

(D) dflysf ;a} 
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@#= l;sfO{sf] ljz]iftfn] g;d]6\g] laifo s'g xf] < 

(A) l;sfO{ k|lqmof / pTkfbg b'j} xf] . 

(B) l;sfO ;fj{ef}d / Jofks x'G5 . 

(C) l;sfO{df cg'ejsf] ;+u7g x'G5 . 

(D) l;sfO{ c:yfoL k|lqmof xf] . 

@$= k'g{jn ;DaGwL s'g egfO 7Ls xf]Og < 

(A) pQ]hgf / k|ltlqmofsf] jGwgnfO{ jlnof] jgfO l;sfO k|efjsf/L agfpg] tTj k'g{jn xf] . 

(B) k'g{jn To:tf] pQ]hgf xf], h:sf] pkl:yltdf k|ltlqmofsf] ;+efjgf j9\5 . 

(C) k'g{jn l;sf?nfO{ lgoGq0f ug]{ k|lqmof xf] . 

(D) l;sf?nfO{ s'g} sfo{ ug{ k|f]T;fxg ug]{ zlQm k'g{jn xf] . 

@%= ;DaGw k|Tofjt{g l;sfO l;4fGtsf] z}lIfs If]qsf s'g kIfdf pkof]lutf b]Vg ;lsG5 < 

(A) zflJbs ;xrfo{sf] l;sfO / lzIf0f ug{ dgf]j}1flgs If]qsf] kl/jt{g 

(B) g/fd|f cfbtx? x6fpg' 

(C) ;fdflhs Pj+ c;dfGo dgf]lj1fgsf] k|of]u 

(D) dflysf ;a} 

@^= /fli6«o kf7\oqmd k|f?k @)&^ n] dft[efiffdf lzIff ;DjGwdf s] s:tf r'gf}tLx? klxrfg u/]sf] 5 < 

(A) ljljw ;fdflhs, ;f+:s[lts / eflifs ;+/rgfo'Qm ldl>t ;dfhsf] l:yltdf efiffsf] Joj:yfkg 

(B) eflifs ljljwtfnfO{ jfwf dfGg] / efiff lzIf0fdf klg Jojxfl/stf eGbf kf7\ok':ts s]lGb|t 

dfgl;stf 

(C) 4}eflifs Pj+ jx'eflifs lzIf0fsf nflu pknAw hgzlQmsf] Joj:yfkg 

(D) dflysf ;a} 

@&= k|f/lDes jfn ljsf; tyf lzIffsf ;Ifdtfx? s'g kb{5 < 

(A) ;jf{lu+0f ljsf;sf lqmofsnfkdf ;+nUgtf 

(B) kf]if0fo'Qm / :j:ysf/ jfgL ljsf; 

(C) jo}lQms ;'/Iffsf pkfox? cjnDjg 

(D) dflysf ;a} 

@*= lzIf0f l;sfO k|ljlwnfO{ k|efj kfg]{ tTj s'g xf] < 

(A) j}1flgs l;4fGt, kf7\oqmdsf p2]Zox?, ljBfyL{x?sf] pd]/, Ifdtf, ?lr 

(B) lzIfssf] Ifdtf tflnd, ljifoj:t', dgf]j}1flgs l;4fGt 

(C) pknAw ef}lts ;fwg, sIffsf]7fsf] jftfj/0f 

(D) dflysf ;a} 
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@(= ljBfyL{ s]lGb|t ljlwsf ;DaGwdf s'g egfO ;To xf]Og < 

(A) ljBfyL{nfO{ s]Gb|df /fv]/ lzIf0f l;sfO lqmofsnfkx? ;~rfng ub{5 . 

(B) lzIfssf] :yfg ;jf]{k/L /xG5 . 

(C) ljBfyL{sf] ?lr rfxgf cfjZostfnfO{ s]Gb|df /fv]/ lzIf0f l;sfO lqmofsnfk ;~rfng ul/G5 . 

(D) lzIf0f l;sfOdf l;sf?sf] ;xeflutf / l;h{gl;ntfnfO{ j9L hf]8 lbOG5 . 

#)= ljlzli6s/0f tflnsfn] s] s:tf nfe k'¥ofpF5 < 

(A) k/LIf0fdf ljifout j}wtf k|bfg ub{5 . 

(B) sIff d'Nof+sgdf k|efjsfl/tf sfod ub{5 . 

(C) sIff lzIf0f l;sfO lqmofsnfkdf k|efjsfl/tf j[l4 ub{5 . 

(D) dflysf ;a} 

#!= sIff lzIf0fsf ljz]iftfdf s'g kb}{g < 

(A) ljBfyL{n] km/s km/s lzIfsaf6 lzIf0fsf] cj;/ k|fKt ub{5g\ . 

(B) Pp6} lzIfsn] pQm sIffdf lbge/ k9fpF5 . 

(C) Pp6} lzIfsn] Pp6f sIffsf] ;a} ljifo lzIf0f u5{ . 

(D) ju{ lzIf0fsf] sIffdf k|foM Pp6} pd]/ ;d"xsf ljBfyL{ x'G5g\ . 

#@= ;'rgf tyf ;~rf/ k|ljlw ;DaGwL ;Ifdtfn] ;Djf]wg ug]{ ljifo s'g xf] < 

(A) l;sfOnfO{ ;xhLs/0f ug{ ;"rgf tyf ;~rf/ k|ljlwsf] PsLs[t l;sfO /0fgLltx?sf] 5gf}6 tyf 

pkof]u ug{ 

(B) l;sf?sf cfjZostf cg's'n l8lh6n ;fdu|L ljsf; ug]{ tyf pknAw ;fdu|Lsf] cg's'ng u/L 

pkof]u ug{ 

(C) ;"rgf k|ljlwsf ;fwgdfkm{t l;sf?x?sf] :jl;sfO k|jw{g ug{ cfkl; ;~rf/ / ;xsfo{nfO{ 

k|efjsf/L agfpg 

(D) dflysf ;a} 

33. In the series 10, 17, 24, 31, 38, ...... which of the following will be a number of the 

series? 

(A) 48  

(B) 346  

(C) 574  

(D) 1003 

34. GRAND MOTHER nfO{ GRAND FATHER  n] sf]8 u/LG5 eg] AUNTI s] sf] sf]8 xf] < 

(A) ATHER      

(B) UNCLE      

(C) BROTH  

(D) ANPUG 
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35. If you rearrange the letter in "HRAAOPK' you would have the name of city of 

Nepal.  

(A) Delhi   

(B)   Pokhara   

(C) Kolkota   

(D) New York  

#^= lbPsf] lrqaf6 klxnf] / bf]>f] lrqsf] qmd kQf nufO{ To;}nfO{ cfwf/ dfg]/ t]>f] / rf}yf] lrqsf] 

lgdf{0f ug'{xf];\ . 

 

#&= lbPsf lrqx¿dWo] s'g} Ps km/s lrq kQf nufpg'xf];\ . 

 

38. Find the missing figures; 

 

39. Running at the same constant rate, 6 identical machines can produce a total of 

270 bottles per minute. At this rate, how many bottles could 10 such machines 

produce in 4 minute? 

(A) 648        

(B) 1800          

(C) 2700         

(D) 10800 

$)= !)) ljBfyL{sf] dWos $) eP5 t/ kl5 csf]{n] o; lx;fjnfO{ /fd|/L hfFr ubf{ $) c+z nfO{ *) /fv]/ 

lx;fj u/]sf] 7x/ eP5 cj z'4 dWos slt xf]nf < 

(A)  $)  

(B) $)=^ 

(C) #$ 

(D) #(=^ 

41. Which is not computer of first generation ? 

(A) ENIAC 

(B) UNIVAC 

(C) IBM650 

(D) IBM 1401 

A B C D (a) (b) (c) (d)

?

(a) (b) (c) (d) (e)

?

(a) (b) (c) (d)
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$@= b]xfosf ljsNkx? dWo] ljBfondf k|of]u gul/g] ;km\6j]o/ s'g xf] < 

(A) Reference software 

(B) Spelling tutor software 

(C) Typing tutor software 

(D) CAD 

$#= lzIffdf ;"rgf tyf ;~rf/ k|ljlw k|of]udf, Joj:yfkg ;ldltsf] cWoIf sf] /xg] Joj:yf 5 < 

(A) ;"rgf tyf ;~rf/ ;lrj 

(B) lzIff ;lrj 

(C) /fli6«o of]hgf cfof]usf] pkfWoIf 

(D) lzIff ljefusf] dxflgb]{zs 

$$= ICT sf] k"/f ?k s] xf] < 

(A) Internet Call Time 

(B) International communication Technology 

(C) Information and communication Technology 

(D) International call time 

$%= ;fOj/ ck/fwaf6 aRg] tl/sf b]xfosf ljsNkx? dWo] s'g xf]Og < 

(A) OG6/g]6df JolQmut ljj/0f v'Nnf ?kdf g/fVg] 

(B) ckl/lrt JolQmaf6 cfpg] Od]nnfO{ gvf]Ng] 

(C) ;fdflhs ;~rfndf ;a} ;Fu af]Ng] / ljZjf; ug]{ 

(D) OG6/g]6 k|of]u ul/;s]kl5 clgjfo{ ?kdf ;fOg cfp6 ug]{ 

$^= k|To]s JolQmnfO{ k|fKt x'g] :jtGqtfsf] xsdf s'g kb}{g < 

(A) k|To]s JolQmnfO{ JolQmTj ljsf;df ;xefuL x'g kfpg] :jtGqtf 

(B) ljgf xftxltof/ zflGtk"j{s e]nf x'g] :jtGqtf 

(C) /fhgLlts bn vf]Ng] :jtGqtf (D) ljrf/ / cleJolQmsf] :jtGqtf 

$&= lzIff P]g, @)@* sf] gjf}+ ;+zf]wg slxn] ePsf] xf] < 

(A) lj=;+= @)&$.&.^ 

(B) lj=;+= @)&$.^.^ 

(C) lj=;+= @)&$.%.^ 

(D) lj=;+= @)&$.&.& 

$*= s:tf ljBfnonfO{ sDkgLsf ?kdf ;~rfng ug{ kfOg] u/L cg'dtL jf :jLs[lt lbOg] 5}g < 

(A) bfgbftAo af6 k|fKt ePsf] ejg jf hUufdf ejg jgfO{ ;~rfng ePsf] ljBfno 

(B) ;/sf/L jf ;fj{hlgs ejgdf ;~rfng ePsf] ljBfno 

(C) ;/sf/L jf ;fj{hlgs hUufdf ejg agfO{ ;~rfng ljBfno 

(D) dflysf ;a} 

$(= lzIfs kbdf a9'jfsf] lgldQ ;DefJo pDd]b\jf/ aGg ;Sg] cj:yf s'g xf] < 

(A) j9'jf x'g] >]0fL eGbf d'gLsf] >]0fLdf slDtdf kfFr jif{ :yfoL ;]jf u/]sf] . 

(B) a9'jf /f]Ssf ul/Psf]df /f]Ssf ePsf] cjlwe/ . 

(C) tNnf] kbdf 36'jf u/]sf]df 36'jf ePsf] ldltn] b'O{ jif{;Dd . 
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(D) tna a[l4 -u|]8_ /f]Ssf ePsf]df /f]Ssf ePsf] ldltn] Ps jif{;Dd . 

%)= :yfgLo ;/sf/ ;~rfng P]g @)&$ cg';f/ :yfgLo txsf] z}lIfs clwsf/df s'g kb}{g < 

(A) :yfgLo k':tsfno / jfrgfnosf] ;~rfng tyf Joj:yfkg 

(B) cGt/fli6«o z}lIfs bftfx?;Fu ;dGjo 

(C) lzIf0f l;sfO lzIfs / sd{rf/Lsf] tflnd tyf Ifdtf ljsf; 

(D) cltl/Qm z}lIfs lqmofsnfksf] ;~rfng 

 

pQ/s'l~hsf 
1 D 2 D 3 B 4 A 5 A 
6 A 7 B 8 C 9 D 10 C 

11 C 12 A 13 C 14 A 15 B 
16 A 17 A 18 A 19 A 20 A 
21 C 22 D 23 D 24 C 25 D 
26 D 27 D 28 D 29 B 30 D 
31 A 32 D 33 B 34 B 35 B 
36 A 37 B 38 B 39 B 40 D 
41 D 42 D 43 B 44 C 45 C 
46 A 47 A 48 D 49 A 50 B 

 


